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Section A (40 Marks)
Questions 1 to 20 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided. 

	1.
	In 59016 the digit 9 stands for 9 x _________

(1) 10

(2) 100

(3) 1000

(4) 10,000





(
)


	2.
	Sixty-one thousand one hundred and nine is written in numerals is 

______________.

(1) 6119
(2) 61,109
(3) 61,1009
(4) 61,0109





(
)

	3.
	6799 is 100 more than ____________.

(1) 66990
(2) 6899
(3) 6699
(4) 6990





(
)



	4.
	105 x 3 is the same as 105 + 105 +  __________.

(1) 210
(2) 315
(3) 105
(4) 115



	5.
	The product of 55 and 110 is _________.

(1) 555
(2) 6050
(3) 605
(4) 6005

	

	6.
	How many eighths are there in 21/2 ?

(1) 5

(2) 8

(3) 16

(4) 20


	

	7.
	Express 30 minutes as a fraction of 1 hour.

(1) 60/30
(2) 1/2
(3) 30/1
(4) 1/30
	

	8.
	41,220 is 100 less than _________.

(1) 41,110
(2) 41,330
(3) 42,220
(4) 41,320 
	

	9.
	Which of the following numbers will be 5050 when rounded off to the nearest hundred?

(1) 5159
(2) 5149
(3) 5059
(4) 5047

	

	10.
	James spent $816 in buying return gifts for her 12 friends but 2 gifts were left. What is the cost of those two gifts?

(1) $34
(2) $68
(3) $136
(4) $272

	11.
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(1) 2 2/5
(2) 2 3/5
(3) 1 2/5
(4) 1 3/5
	

	12.
	Solve 59008 ÷ 9

(1) 6556
(2) 6556 r.4

(3) 6001
(4) 6506r.4


	

	13.
	 3/12 + 4/12 + 8/12 expressed as a mixed number is ________.

(1) 16/36
(2) 1 3/12
(3) 1 1/4
(4) 1 4/12

	

	14.
	What fraction of the figure is shaded?





(1) 4/5
(2) 5/9
(3) 4/9
(4) 4/18

	


	15.
	The length of a rectangle 36 cm. Its breadth is half as long as its length. Find the perimeter of the rectangle.
(1) 648 cm
(2) 54 cm
(3) 90 cm
(4) 108 cm



	16.
	The area of a rectangle is 1170 cm2. If its breadth is 30 cm, what is its length?
(1)   39 cm

(2) 370cm

(3) 32 cm

(4) 1140 cm

	17.
	How many pairs of parallel lines are there in the figure below?
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(1) 1

(2) 2

(3) 3

(4) 4



	18.
	What is angle a?





    32°    a




  21°


(1) 42°

(2) 37°

(3) 90°

(4) 132°°

    

	19.
	A square has side 12 cm. The area of a rectangle is 2 times the area of the square. Find the area of the rectangle?

(1) 48 cm2
(2) 24 cm2
(3) 288cm2
(4) 243 cm2


	20.
	The figure below is made up of 2 cm squares.


                                             2cm


What is its perimeter?

(1) 14 cm

(2) 28 cm

(3) 24 cm

(4) 64 cm




Section B ( 40 marks )

Questions 21 to 40 carry 2 marks each. For each question, write the answer on the space provided. 

	

	25, 300 = 25 thousands + _______ hundred.

	22.
	The product of 356 and 26 when rounded off to the nearest hundred is 

_________.



	23.
	The first 2 common factors of 12 and 16 are ________________.



	24.
	The difference between the 4th multiple of 8 and the 6th multiple of 5 is 

_________.



	25.
	Mary paid $248 for a washing machine and a microwave. The cost of washing machine is three times the as much as the microwave. How much did Mary pay for the microwave?


.



	26.


	Arrange in descending order: 
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	  27.
	Arrange in ascending order:

1
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	 28.
	A number when divided by 7 gives a quotient of 11 and a remainder of 6. What is the number? ________.



	29.
	7/9 - _______ = 7/12. Simplify your answer.


	
	

	 

30.
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 of 57 is
	
	

	31.
	1
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	32.
	In the figure, ABCD is a rectangle and [image: image15.png]


ACD is 33o.  Find [image: image16.png]


BCA.

            A                                                   B  


            D                                                   C
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BCA = _______  

	33.


	Find [image: image18.png]


 b.





                                        (



	
	Look at the figure below and answer questions 34 and 35.
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	 34.
	Name a pair of parallel lines. 




	 35.
	Name a pair of perpendicular lines.

	
	In the figure, all lines meet at right angles.



                







	36.
	Find the area.



	37.
	Find the perimeter.



	
	The table below shows the number of adults and children who went to an  amusement park in a week. Use this table to answer questions 38-40.

Day

Number of children

Number of adults

Monday

35

29

Tuesday

33
26

Wednesday

18

22
Thursday

10

113
Friday

29
17

Saturday

63

47
Sunday

              109

94



	38.

39.

40.


	 

On which day of the week were there the least number of visitors?

______________.

How many more adults than children visited the amusement park on Thrusday?

______________.

If the entrance fee was $1 for a child and $3 for an adult, how much was

collected by the amusement park on Sunday?

______________.

Section C (20 marks)

Questions 41 to 45 carry 4 marks each. For each of the following problem sum, show your work clearly in the space provided. 



	41.
	A rectangular garden measures 32 yd by 16 yd.  A concrete path 2 yd wide is paved around it.  What is the area of the path?











       2



	42.
	 There were 250 female teachers in 3 schools and half as many male teachers as female. How many teachers are there in all the 3 schools?
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of the people in a carnival are women.
(a) What fraction of the people are men?
  

(b) If there are 320 women, how many people are there altogether?
  

(c) How many more women than men are there?



	44.
	Jim’s age is 
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  of her brother’s age. His brother will be 27 years old in 9 years’ time. How old is Jim?



	45.
	The sum of 3 numbers is 195. If the smaller number is the 5th multiple of 27 and the larger number is 3rd multiple of 18. Find the three numbers. 
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Answer Key

	Q1
	3
	Q11
	13/5
	Q21
	3
	Q31
	31/8
	Q41
	176yd2

	Q2
	2
	Q12
	2
	Q22
	9300
	Q32
	57°
	Q42
	375

	Q3
	3
	Q13
	2
	Q23
	2,2
	Q33
	226°
	Q43a
	3/8

	Q4
	3
	Q14
	3
	Q24
	2
	Q34
	CD,EF
	Q43b
	512

	Q5
	2
	Q15
	4
	Q25
	$62
	Q35
	CD,DE
	Q43c
	128

	Q6
	4
	Q16
	1
	Q26
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	Q36
	364in2
	Q44
	6years

	Q7
	2
	Q17
	1
	Q27
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	Q37
	114in.
	Q45
	135,54,6

	Q8
	4
	Q18
	2
	Q28
	83
	Q38
	Wed
	
	

	Q9
	4
	Q19
	3
	Q29
	49/36
	Q39
	103
	
	

	Q10
	3
	Q20
	2
	Q30
	38
	Q40
	301
	
	








10 in.





12 in.





12 in.





8 in.





18 in.





9 in.
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